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Corrigé de I'exercice 1

Réduire les expressions littérales suivantes :

»1. A:—10y2—8—8y—(—yZ)—7y—(—7)
A=—-10y2 -8 —-8y+1>—Ty+7
A=—-1012+y> -8y —Ty—8+7
A=(-10+1) xy* +(-8-T) xy—1
A=-9y>—15y—1

»2. B=-9d?>-6d+8d>—-9d—5+8
B=-9d>+8d>-6d—-9d—5+8
B=(-9+8) xd*+(-6—-9)xd+3
B=—-d>—-15d+3

»3. C=-5d—3d>-3d>+2—-5-2d
C=-3d-3d>-5d—2d+2-5
C=(-3-3)xd*+(-5-2)xd-3
C=—-6d>-7d-3

4. D=4gx5x (—8g)—10g> -9
D=4x5x (-8 xgxg—10¢g*>—9
D=-160¢g>—10¢* -9
D = (=160 — 10) x g* — 9
D=-170¢>-9

Corrigé de I'exercice 2

Réduire les expressions littérales suivantes :

»l. A=2—-¢>-5+10g>—-2g+6g
A=—-¢?>+10¢>-2g+69g+2—5
A=(-1+10)x g*+(-2+6) x g—3
A=9¢>+49g—-3

»2. B=6—(—6¢)—(—10)—10c+9c*— (—6¢?)

B=6+6c+10—10c+9¢%+6¢2
B=94+6c+6¢c—10c+6+10
B=(94+6)xc®+(6—10) x c+16
B=15¢2—4c+16

»3. C=8—(-82?) —32-10— (-72%) +3z
C=8+4822-32-10+722+32
C=8224722-32+32+8—-10
C=0@B+T)x22+(-3+3)xz—-2
C=1522+0-2
C=152%-2
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»5. E=—6¢>— (—6) x 6¢ x (=3) x (=7q)

E=—6¢%—(=6x6x(=3)x(=7) xqxq)

E=-6¢"— (-756¢%)
E = —6q¢*+ 756 ¢

E = (=6 +756) x ¢°
E =750¢*

»6. F=-3f2—(—10f) x 10 f x (—4) x (—6)

F=-3f2—(-10 x 10 x (—=4) x (=6) x f x f)

= —3f% — (—2400 f?)
= —3 % +2400 f*

»4. D= -5 xwx (=5) + 10w? — (—2w)

D=-5x(=5) xw+10w? + 2w
D=25w+10w? + 2w
D=10w?+25w+ 2w
D=10w?+ (25 +2) x w

D =10w?+ 27w

5. E=—-Tk—6k>—6x(-3)x9k

E=-Tk—6k>+18x9xk
E=—-Tk—6k®>+162k
E=—6k>—T7k+162k
E=—6k"+(-7+162) x k
E=—6k>+155k

»6. F'=h?—10h x 3h x (—4) x (=9)

F=h%-10x3x (—4) x (=9) x h x h
F =h?>—-1080h?

F = (1-1080) x h?

F = —1079 h?
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Corrigé de I'exercice 3

Réduire les expressions littérales suivantes :

»1. A=62%-9— (—32?) — (—4z) -5z +1 »4. D =nx 10n x (=8) x 10 + 1072
A=62>-9+32° +4x -5z +1 D =10x (=8) x 10 x n x n +10n?
A=62>4+32> +40—52—-9+1 D = —800n? 4 10n?
A=(6+3)x2>+(4—-5)xz—8 D = (—800 + 10) x n?
A=922—z—8 D = —790n?

»2. B=-9+5a?>—-a?>—-5a—(—6)—8a »5. E=2m x (—4m)—9m? —4x 10
B=5a*>—-a*~5a—-9+6—-8a E=2x(—4) xm xm—9m? — 40
B=5a>—-a*~5a—-8a—9+6 E = —-8m?—9m? — 40
B=0(B-1)xa*+(-5-8) xa—3 E=(-8-9)xm?—140
B=4ad*>—-13a-3 E=—17m?* — 40

3. C=—-1+2h+4h?>—(—6)—Th?>—-5h »6. F=—4f2+9fx(—4)x(—6)x6f
C=—-1+2h+4h*+6—-T7Th?>-5h F=—4f249x(-4)x(=6)x6x fxf
C=4h>—Th>+2h—5h—1+6 F=—4f?4+1296 f?
C=A-T)xh*+(2-5)xh+5 F = (—4+1296) x f?
C=-3h*—-3h+5 F=1292f?

Corrigé de I'exercice 4

Réduire les expressions littérales suivantes :

1. A=-8—(—6q)—2—(-10¢°) +2¢—9¢* »4.

A=—-846¢—2+10¢>+2¢—9¢ = 9k?— (=4 x (=3) x6 x (1) x k x k)

A=10¢"-9¢*+6q+2¢q—8—2 = —9k% — (-72k?)
A=(10-9)x ¢+ (64+2)xq—10 = —9k* + 72k
A=¢*+8¢—10 D= (-9+72) x k
_ 2
»2. B=-2a+5a>— (~5a2) -9~ (-3) —6a D =63k

»5. E=—-2x(—6) x 35 x (—=3s) — 45>
E=12x3x(=3)xsxs—4s>
E=-108s% — 45*

E = (—108 — 4) x §*
E=-1125"

6. F=—3dx10x2— (-3d*) —5d
F=-3x10x2xd+3d*>-5d
F=-60d+3d*-5d
F=3d*>-60d—5d
F=3d*+(-60-5)xd
F =3d*>-65d

B=-2a+5a>+5a>-94+3—-6a
B=5a>+5a*-2a—6a—9+3
B=(4+5)xa*+(-2—6)xa—6
B=10a*>—-8a—6

»3. C=6a%>—(-5a) — (—6) —a—6+4a?
C=6a>+5a+6—a—6+4a>
C=6a>+4a>+5a—a+6—-6
C=06+4)xa’>+(B-1)xa+0
C=10a>+4a+0
C=10a*+4a
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Corrigé de I'exercice 5

Réduire les expressions littérales suivantes :

1. A=—4dm—1-1-4m+3m? —5m? »4. D=4 x 8z x (-9) — 322 - 9x
A=—4m—-2—4m+3m? —5m? D=4x8x(-9)xz—32°—-9zx
A=3m?>—5m?> —4m —4m —2 D= -288z — 32> -9z
A=3-5)xm*+(-4—4) xm—2 D= 322288z —9x
A=—-2m*—-8m—2 D=—-32%+(-288—9) xz

2. B=4n+9n?—4n? —n—(-2) — (-2) D=-32>-297x
Bedn49n?—4n2—n+92492 »5. E=—1022 — (—8z) x 1 x 9z x 8

_ 2
B=9n?—4n2+4n—n+2+2 E=-10"—(-8x9x8xzXxu)

B=(9—4)xn*4+(4—-1)xn+4 E=-102" — (-57627)
B=5n>4+3n+4 E = —102% + 576 2
3. C=6p—6p>—2p°+2—4dp—1 E = (=10 + 576) x &
E = 566 2>

C=—6p>—2p>+6p—4p+2—-1

6. F=—10pxp—2p>+7x1

C=(-6-2)xp*+(6—-4)xp+1
— 2 2

C=-8p°+2p+1 F=-10p"-2p"+7

F=(-10-2) xp>+7

F=—-12p*+7

Corrigé de I'exercice 6

Réduire les expressions littérales suivantes :

»1. A=7—(-7v?) —3v—(—Hv)—4v? -5 »4. D=-Tux1xTux4—(—4u?)
A=7+7v> —-3v+5v—40v>—5 D=-7TxTx4xuxu+4u?
A=Tv>—40>—-3v+50v+7-5 D = —196u? + 4u?

A= (T—4) x>+ (=3+5) xv+2 D = (=196 +4) x u?
A=30v>4+2v+2 D = —192u?

2. B=12 -8 - Tt—1—(—5t)+ 7t »5. E=-3d+3d*>+9dx (-6) x 1

B=1>—Tt-8—1+5t+7¢ E=-3d+3d>+9x(~6) xd
2
B=t*4+7t>—Tt+5t—8—1 E=-3d+3d" -54d

E=3d>-3d-54d
E=3d*+(-3-54) xd
E=3d>-57d

6. ['=6ax (—4) x (-9a) — (—84a?) =5
F=6x(—4)x(-9) xaxa+8a®>—5
F =216a* +8a*> -5
F=(216+8)xa*—5
F =224a> -5

B=(1+4+7) xt*+(=7+5)xt—9
B=81>—-2t—-9

»3. C=-Tm?>—-3m—2m?—(—6)+3—(—=5m)
C=-Tm*>-3m—-2m*>+6+3+5m
C=—-mm?>-2m?>—3m+5m+6+3
C=(-7T-2)xm?>+(=3+5)xm+9
C=-9m?>+2m+9
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